BIOLOGY I FLASHCARDS==QUESTION/DEFINITION ON ONE SIDE, ANSWER/TERM ON OTHER SIDE OF INDEX CARDS.  USE 3 X 5 INDEX CARDS (DO NOT CUT THEM IN HALF).  ALWAYS # YOUR CARDS & HAVE A SEPARATE NAME CARD WITH EACH DUE DATE.
STATE TEST OVERVIEW (60 TOTAL MULTIPLE CHOICE QUESTIONS + 10 FIELD TEST MULTIPLE CHOICE QUESTIONS)=70 TOTAL QUESTIONS

TOPIC






NUMBER OF QUESTIONS

Nature of science (equipment, safety, scientific method,

7


interpret data charts, tables, graphs)

Chemical basis of life (characteristics of living things

7


inorganic & organic compounds essential to life,


pH, enzymes, ATP, photosynthesis, cellular


respiration)

Cell (organelles, prokaryote vs. eukaryote, plant cell vs. 

14


animal cell, organization of cells in multicellular


organisms, passive & active transport, mitosis,


meiosis, asexual vs. sexual reproduction)
Genetics (DNA & RNA, basic genetics principles, sex-

14


linkage, incomplete dominance, codominance,


multiple alleles, mutations, gel electrophoresis,


pedigrees, karyotypes)

Classification & evolution (6 kingdoms, vascular vs.

7


nonvascular plants, vertebrates vs. invertebrates,


dichotomous key, viruses, natural selection, 


speciation, adaptation)

Ecology (cycles, producer, consumer, decomposer, biomes

11


energy transfer through trophic levels, predator-prey,


competition, symbiosis, human impact on environment)

BASIC TERMINOLOGY (21 QUESTIONS + NAME CARD)   DUE: ________

Analyze—to break down, in order to understand the relationship or individual parts
Assess—estimate the value or significance of something

Bias—a subjective point of view, as bias in favor of or against an idea

Characterize—to depict or give the distinguishing trait of something

Classify—to group according to relationships, to categorize

Compare—to point our similarities & differences between objects with emphasis on similarity

Contrast—to stress differences between objects

Define—to give a clear concise meaning for a term.  Generally, it consists of identifying the class to which a term belongs, & how it differs from other things in that class.

Discuss—to treat a subject fully, providing background information & explaining how parts relate to each other.

Evaluate—to make s value judgment with a statement of negative & or positive worth

Illustrate—to make clear by use of examples or visual features

Identify—to distinguish one or more things or people from a larger number

Summarize—to reduce by citing main points relevant to an issue in condensed, abbreviated form with details, illustrations, & examples omitted.

Valid—a statement or term that is most correct or appropriate for the content

Predict—what will happen next

Explain—tell how

Support—back up with details

Describe—tell about

Formulate—create

Infer—read between the lines

Trace—list in steps
NATURE OF SCIENCE (20 QUESTIONS + NAME CARD)  DUE:  ____________
Chemicals that are flammable should not be around this 

fire/flames

The first thing to do if something goes wrong in the lab

tell the teacher

Beakers, pipettes, & graduated cylinders all measure this

volume

Instrument used to measure mass




balance

Type of graph that shows percentages



pie graph/chart

Air bubbles on a slide can be removed by



gently tapping on










coverslip

Disadvantage of light microscopes




cannot view tiny cell










parts, molecules

Disadvantage of electron microscopes



cannot view living 










things

Which gives a wider field of view:  low or high power?

Low

Adjusts the amount of light in a microscope



diaphragm

The total magnification for a 10X ocular & 40X objective

400X

Unit of measurement used in the length of organelles

micrometers (1/1000










mm)

The manipulated variable





independent variable

The responding variable





dependent variable

This variable is plotted on the X-axis (horizontal axis)

independent/










manipulated variable

This variable is plotted on the Y-axis (vertical axis)


dependent/










responding variable

Factor that is kept the same for all groups in an experiment

constant, controlled










variable

An inactive substance used as a control



placebo

A testable, possible explanation for a set of observations

hypothesis

A well-tested explanation that unifies a broad range of 

theory

    observations & experimentation

CHEMICAL BASIS OF LIFE (48 QUESTIONS + NAME CARD)  DUE:  ________
Atom that has gained electron(s)




negatively charged 










ion

Atom that has lost electron(s)





positively charged










ion

Type of bond in which electrons are shared



covalent

Type of bond in which electrons are transferred


ionic
Type of bonds in which ions are formed



ionic

Carbon forms this type of bond with other carbon atoms

covalent

NaCl (table salt) is formed from this type of bond


ionic

Outermost electrons involved in chemical bonding


valence

The pH of a neutral solution





7

The pH of pure water






7

The pH of an acid






less than 7

The pH of a base






more than 7

The pH of a strong acid





1-2

The pH of a strong base





12-13

The pH of a weak acid





5-6

The pH of a weak base





8-9

Molecules made by living cells are mainly assembled around
carbon

this element

4 major groups of organic compounds



carbohydrates, lipids,










proteins, nucleic acids

The suffix that indicates a sugar




-ose

Sugars & their polymers





carbohydrates

Simple sugar







monosaccharide

The monomer of a polysaccharide (complex carbohydrate)

monosaccharide/










simple sugar

Polysaccharide that forms the cell walls of plants


cellulose

Polysaccharide that stores energy in plants



starch

The elements found in a carbohydrate



carbon ©, hydrogen 










(H), & oxygen (O)

The ratio of C, H, & O in a monosaccharide



1 : 2 : 1
Includes fats, waxes, steroids (cholesterol)



lipids
Two components of a fat





glycerol & fatty acids

A polymer of amino acids





protein

The monomers of a protein





amino acids

Proteins that speed up chemical reactions



enzymes

The reactants in an enzyme-catalyzed reaction


substrates

Location on enzyme where substrate attaches


active site

A polymer of nucleotides





nucleic acid

The monomers of a nucleic acid




nucleotide

The 3 parts of a nucleotide





5-carbon sugar, 










nitrogenous base,










phosphate group

The universal solvent






water

The substance that dissolves in the solvent



solute

Molecule with opposite charges on opposite ends


polar molecule

As a result of water’s polarity this type of bond results

hydrogen bonding

between water molecules

Part of ATP that breaks off to release energy



the 3rd phosphate 










group

Products of photosynthesis





sugars & oxygen

Products of cellular respiration




carbon dioxide &










water

Reactants of photosynthesis





carbon dioxide &










water

Reactants of cellular respiration




sugars & oxygen

This follows glycolysis if oxygen is present



Krebs cycle

This follows glycolysis if oxygen is not present


fermentation

Steps of aerobic respiration, in order




glycolysis, Krebs 










cycle, electron 










transport chain

CELL (50 QUESTIONS + NAME CARD)  DUE:  ___________________
Location of DNA in prokaryotic cell




cytoplasm

Location of DNA in eukaryotic cell




nucleus

Jelly-like substance in interior of cell




cytoplasm

The “control center” of the cell




nucleus

The core of the cell membrane is made of this


phospholipid










bilayer

Structure within nucleus made of DNA & protein


chromosome

Point of attachment between sister chromatids


centromere

Rigid structure outside cell membrane



cell wall

Storage organelle






vacuole

Vacuole that pumps out excess water




contractile vacuole

Small sac containing digestive enzymes



lysosome

Site of protein synthesis





ribosome

Generates ATP energy





mitochondrion

Site of cellular respiration





mitochondrion

Site of photosynthesis






chloroplast

Green pigment in the chloroplast




chlorophyll

Organelle that may have ribosomes attached to it 


endoplasmic










reticulum (rough ER










has ribosomes)

Network of protein filaments for movement & support

cytoskeleton
Organelle that packages & secretes proteins & lipids

Golgi apparatus

Whiplike structure on some cells used for movement

flagellum

2 cell structures found in plant cells but not animal cells

chloroplast & cell 










wall

The size of vacuoles in plant cells




large

Group of similar cells working together



tissue

Group of different tissues working together



organ

Property of cell membranes that allows only some materials

selectively permeable/

materials to pass through




sermipermeable

Movement of molecules from low to high concentration

active transport; ATP










required!

Solution containing a higher concentration of solutes

hypertonic

Solution containing a lower concentration of solutes


hypotonic

Type of cell transport that requires energy



active transport

State when the concentrations on both sides are equal

equilibrium

Portion of cell cycle when chromosomes are visible


cell division (mitosis,










meiosis)

The 3 phases of interphase





G1, S, G2

The phase of interphase when DNA replicates


S

Phase that includes prophase, anaphase, telophase, 


M phase (mitotic 

cytokinesis






phase)

A cut will repair itself with this process of cell division

mitosis

Cell division that produces somatic cells



mitosis

Cell division that produces 2 genetically identical diploid

mitosis

daughter cells

Phase of mitosis in which chromosomes condense


prophase

Phase of mitosis in which chromosomes line up in middle

metaphase

Phase of mitosis in which sister chromatids separate


anaphase

Phase of mitosis in which 2 daughter cells form


telophase

The division of the cytoplasm





cytokinesis

Cell division that produces gametes/reproductive cells

meiosis

Cell division producing  4 genetically different haploid cells
meiosis

The phase of meiosis in which crossing over occurs


prophase I

The phase of meiosis when homologous chromosomes line up
metaphase I

in the middle

The phase of meiosis when homologous chromosomes separate
anaphase I

The phase of meiosis when sister chromatids separate

anaphase II

An advantage of sexual reproduction




increase in genetic










diversity

An advantage of asexual reproduction



ablility to reproduce










quickly

GENETICS (62 QUESTIONS + NAME CARD)  DUE:  __________________
The sugar in DNA






deoxyribose
The sugar in RNA






ribose
The nitrogenous base found in DNA but not in RNA

thymine

The nitrogenous base found in RNA but not in DNA

uracil

Molecule shaped like a double helix or twisted ladder 

DNA

Part of DNA that is the “genetic code”



sequence of 










nitrogenous bases

Sequence of DNA that codes for a trait



gene

Alternate forms of a gene





alleles

Complementary DNA sequence for TCAGAT


AGTCTA

An organism’s appearance/physical characteristics


phenotype

Genetic make-up of an organism




genotype

The # of recessive alleles needed to express that trait

two

The sex cells (egg cells, sperm cells)




gametes

Two sets of chromosomes





diploid

One set of chromosomes





haploid

If the gametes have 12 chromosomes, how many chromosomes
24

will the somatic cells contain?

A mother & father have 4 boys; what’s the chance their 5th

½ or 50 %

child will be a boy?

The offspring of the P generation




F1

The offspring of the F1 generation




F2

Possible genotypes in Aa x Aa cross




AA, Aa, aa

Two heterozygous tall plants are crossed; what % of


75 %

offspring would be expected to be tall?

Huntington’s disease is caused by a dominant allele.  What %
75%

of offspring would be expected to be tall?

Huntington’s disease is caused by what type of allele?

Dominant

What % of offspring would be expected to have Huntington’s
50%

if the parents are Aa and aa?

To determine if a tall pea plant is TT or Tt, you should cross it
tt

with a plant of this genotype

An example of multiple alleles




ABO blood grouping










system

The genotypes that result in type A blood



I  I  ,  I  i

The genotype that results in type O blood



ii
The possible blood types for offspring if both parents are 

A, B, AB

type AB

The possible blood types for offspring if one parent has type
A, B

O and one has type AB

The 2 alleles in the ABO blood grouping system that are

I  , I

codominant

Roan hair color is an example of this type of inheritance

codominance

Type of inheritance in which heterozygous individuals

incomplete 

have an intermediate phenotype



dominance(think 










pink flowers)

If flower color is controlled by incomplete dominance, what
50 %

% of offspring will be pink when 2 pink flowers are
crossed?

Type of inheritance primarily affecting males


sex-linked/X-linked

A woman who is colorblind can expect this % of her sons to 
100 %

be colorblind

A carrier woman can expect this % of her sons to be colorblind
50%

The genotype of a man with hemophilia



X  Y

The genotype of a woman with hemophilia



X   X

Genes found on the same chromosome 



linked genes (which 










are more likely to be










inherited together!)

The synthesis of mRNA from a DNA template


transcription

The mRNA complement to the DNA strand GCATTA

CGUAAU

The synthesis of a protein from mRNA



translation

The tRNA complement to the mRNA codons CGAUUC

GCUAAG

The site of protein synthesis/translation



ribosome

The molecule that bears a codon




mRNA

The 2 attachments on a rRNA





anticodon & amino










acid

Change in DNA sequence





mutation

Chemical or physical agent that interacts with DNA to cause
mutagen (includes 

a mutation






UV rays)

The total # of chromosomes in each human somatic cell

46 (23 pairs)
The total # of chromosomes in each human gamete


23

The # of sex chromosomes in each human somatic cell

2 (1 pair)

The # of sex chromosomes in each human gamete


1 

The chance a sperm cell will bear an X chromosome

½ or 50 %

A diagram used to trace a trait through a family


pedigree

The symbol in a pedigree that represents a male


square

The symbol in a pedigree that represents a female


circle

Ordered display of an individual’s chromosomes by size &

karyotype

centromere position

Used to determine if a person has extra or missing chromosomes
karyotype

Enzymes that cut DNA into fragments



restriction enzymes

DNA fingerprinting involves using this technique


gel electrophoresis

Separates DNA fragments based on length



gel electrophoresis

CLASSIFICATION & EVOLUTION (49 QUESTIONS + NAME CARD)  DUE:__
Biological classification group with most organisms


domain (next would










be kingdom)

Two organisms in the same class also have these taxa in

domain, kingdom,

common






phylum

The first part of a scientific name




genus

The second part of a scientific name




species epithet

Which set of organisms is most closely related—the 2 that 

the 2 that belong to 

belong to the same genus or 2 that have the same species
the same genus

epithet?

2 kingdoms consisting of only heterotrophic organisms

Fungi & Animalia

Kingdom that consists of only autotrophic organisms

Plantae

2 kingdoms that consist entirely of unicellular prokaryotes

Archaebacteria &










Eubacteria

The “catch-all” or “odds & ends” kingdom



Protista

Algae, amoebas, & slime molds belong to this kingdom

Protista

Compound that blocks growth & reproduction of bacteria

antibiotics

Mushrooms & yeasts belong to this kingdom


Fungi

The cell walls of fungi are made of this



chitin

The 3 basic shapes of bacterial cells




spirilla, cocci,










bacilli

Asexual reproduction in bacteria




binary fission

Process nonvascular plants use to transport materials

osmosis (this limits

the size of nonvascular plants

because water can 

only be transported

short distances)

Type of plant requiring water for reproduction


nonvascular

Examples of nonvascular plants




mosses, liverworts,










hornworts

Seedless vascular plants





ferns

Seeds are enclosed in a fruit





angiosperms, or










flowering plants

Mature or ripened ovary





fruit

The 2 classes of angiosperms





monocots & dicots

Cone-bearing plants






gymnosperm
Outer tissue layer in plants & animals



epidermis

Waxy covering in plants that prevents water loss


cuticle

2 types of vascular tissue





xylem & phloem

Vascular tissue that transports water & minerals


xylem

Vascular tissue that transports nutrients (sugars)


phloem

Plant life cycle in which haploid gametophyte alternates with 
alternation of

a diploid sporophyte





generations

Type of symmetry in which the body is arranged around a 

radial symmetry

central point

Animal phylum that includes sponges



Porifera

Simplest animals; lack true tissues & symmetry


Porifera (sponges)

The flatworms







Platyhelminthes

The roundworms






Nematoda

The segmented worms





Annelida

Animal phylum that includes jellyfish & coral


Cnidaria

Animal phylum including insects, arachnids, crustaceans

Arthropoda

Animal phylum with jointed appendages & exoskeletons

Arthropoda

Animal phylum including slugs, snails, clams, squid


Mollusca

Animal phylum that includes starfish & sea urchins


Echinodermata

Animals with backbones





vertebrates

Phylum that includes all vertebrates




Chordata (notochord,










pharyngeal pouches,










tail, nerve cord)

Type of symmetry in all vertebrates




bilateral

Body temperature depends on the environment


ectotherm

Organisms that can regulate internal body temperature

endotherm

5 major groups of vertebrates





fish, amphibians,










reptiles, birds, 










mammals

Class of vertebrates that includes monotremes, placentals, &
mammals

marsupials

Two components of a virus





nucleic acid (DNA, 










RNA) & protein coat










(capsid)

cause of speciation






reproductive isolation 










(behavioral, 










geographic, temporal)

ECOLOGY (35 QUESTIONS + NAME CARD) DUE:  _________________
Consumers that eat only plants




herbivores

Consumers that eat only animals; “meat eaters”


carnivores

Consumers that eat both plants & animals



omnivores

In most ecosystems, the greatest biomass is found at this

producers

Tropic level

Each step in a food chain or food web



trophic level

% of energy transferred from one trophic level to next

10 % (more trophic










levels means less










available energy to










top consumers)

passage of elements, compounds, & matter through the

biogeochemical

environment






cycles (water, C, N, 










P)

Loss of water through a plant’s leaves



transpiration

Process in which some bacteria convert atmospheric


nitrogen fixation

nitrogen into ammonia

Process in which free nitrogen is returned to atmosphere

denitrification
Symbiotic relationship in which both organisms benefit

mutualism

Symbiotic relationship in which one benefits, 1 unaffected

commensalism

Lichens are an example of this type of symbiosis


mutualism

Individuals so similar they can breed & produce fertile offspring
species

Individuals of the same species living in same area


population

Individuals of different species living in the same area

community

A community & its nonliving environment



ecosystem

Group of ecosystems with similar climates & communities

biome

Portion of earth where life exists




biosphere

A living factor







biotic

A nonliving factor






abiotic

Layer of permanently frozen subsoil




permafrost

Biome characterized by permafrost




tundra

Size of tundra plants






short & stunted

The 2 driest biomes






desert & tundra

Biome characterized by large herbivores



tropical savanna/










grassland

You live in this biome






temperate forest

Material formed from decaying leaves & other organic matter
humus

that makes soil fertile; characteristic of temperate forest

Location of most of earth’s rainforests is near this imaginary
equator

line

Portion of ocean that is always dark




aphotic zone

The type of producers in the aphotic zone



chemosynthetic










autotrophs

Formed when freshwater meets saltwater



estuary

The maximum # of individuals an environment can support

carrying capacity

Major cause of ozone depletion
CFCs (chloroflurocarbons)

Disease in amount of algae & other producers due to an increase
algal bloom
in a limiting nutrient (can be caused by run-off from 

fertilizers)

